(DICS 31)

B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2019.

Time : One and half hours

1.

2.
Century.

20 % %@ngmesﬁ
[Eea0s0.

3.

Third Year

SCIENCE AND CIVILIZATION

Maximum : 50 marks

SECTION A — (2 x 13 = 26 marks)

Answer any TWO questions.

Explain in detail about Neolithic age of metals.
S°SFo s, AGORE Ao K80 DIBoWBNL.

Give an account on the significance discoveries in medical field during 20tk

DeSBONOS® 1HBOSBAD H0PGHH BB 28 TogHRVR

Describe the importance of Mathematics.
Ke3edd00 a0y, P08 DBIBOWH.

Give an account on the invention of Steam engine.

&8 Q0B BNY, eI, Be 8 TFIB0 [FPALOZ.

Explain the Non conventional energy source with example.

0B GHBE FEHIBIOD &ErEes” DHBoSAL.

Explain about biological killers.
255 89Be 18y DSBowHIN.

(a)

(b)

©

(d)

Insulin

’&?63‘3@5

Computer
éoﬁ/.g)"‘?seos
Teleprinter

&O1D0e0d

DDT
&.G.63

SECTION B — (3 x 4 = 12 marks)

Answer any THREE questions.



(e) Atomic power
SRV

()  Solar energy

olel:
(g) Security
el
(h) Iron
Qe

(1) Satellite

SRS
SECTION C — (3 x 4 = 12 marks)
Answer ALL questions.
Fill in the blanks :-
(a) invented pencillin.
DD AN SRR T2

(b) Fertilizers are used in

ABOYED E); 6 TEOT B .

(¢) ILO means
0.05.8, OITID )

(d) Radium therapy is for .

B8&o%o D3ty §%50

Choose the correct answer :-

(a) Blue baby syndrome is due to
2 88 DoE'A B oD H5:os

(1) Mercury
BN

(11) Nitrates
EBedew

(b) Radio was invented by
BEBITD I éi)i)eéa?

(1) Thomas
&50R

(iii)

iv)

(iii)

Lead
HINEY)
Phosphates

R

Biard
B
[



©

(d)

(1) Johane Gutenberg
& 080G

Pesticides are used

DBIHO DoKen BIS GIBIRIE 2

(1) to increase production

65180 2o3E08

(i) To kill insects
gz S056d8

Geothermal energy
3o ég%_go
(1) Conventional energy

oI aDE ¥

(1) Chemical energy

BRma 48

10. Match the following.

(a)

(b)

()

(d)

H2SO04
H2S04

Television
B30De3d

Wind energy
%S

Electricity
3)(‘,53?31:51)_%

iv)

(iii)

iv)

(iii)

iv)

@)

(i1)

(iii)

iv)

Gulimo Marconi

DI 567,

To stop floods
S8&e0 9568

To bring rain

SBo 5785
X

Non conventional energy

TR0 S 8

Atomic energy

SRV

Communication

CARSTISTYLIe IV U]
Conventional energy
oI aDE ¥
Acid rains
€35030°e0

N

Non Conventional energy
TR0 RS ¥8



(DBMAT31)

B.A/B.Sc. DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Mathematics
Paper IIT — RINGS AND LINEAR ALGEBRA
Time : Three hours Maximum : 70 marks

SECTION A — (8 x 3 = 24 marks)

Answer ALL questions, Each question carries 3 marks.

1. Explain about Cancellation law in a ring R
H00H30 R & 5763368 5o 050 DSBoHIN.

2. Show that a field has no Zero divisors.

500 FI°5e7eess BareduR) HIC)H00.
S )

3. Show that every field is an integral domain.
98 FEI0 JrToE (DBESD SIS0

4. Show that the homomorphic image of a Commutative ring is a Commutative ring.

2.8 DA00D HO0LPAS F0BIPHE® (58000, &8 DAHFAD HOODEIA WST°H0.

5. Define Linear Span. Prove that L(S) is a subspace of V(F).
200088 DSBYD B0, 3BT do V(F) £ L(S) 2.8 earo80do & DBICD0B0E.

6. Determine whether or not the following vectors form a basis of R3 (1,1,2), (1,2,5),
(5,3,4).

R3° (1,1,2), (1,2,5), (5,3,4) S58Few ST BT BE® E08°) 08

7.  Derive Rank and Nullity of T
JBI8° §%3 S08a5n $8387° Eredgs T o 3.)65{’.)01:50&.

8. Prove that the two matrices A and C~*AC have the same characteristic roots.

3ot QS 4, CTLAC ev &8 er§d¥ Suorerodn SOR &oerahd $mHok.



9. @ O
(i)
@)
(i)

(b) @
(i1)

)
(i1)
M e85

10. (@ @)
dependent.

(i)

@)
(i)

SECTION B — (4 x 11% = 46 marks)

Answer ALL questions, each question carries 11% marks.

Show that a finite integral domain is a field.
Show that the intersection of two sub-rings of a ring R is a sub-ring of R.
3B Jeoro¥ (SBB500, 2.8 F R0 SIeHI0.
5000300 R 8 B0t 5350051570 500 R 8 550005010800 <SPS,
Or

Define Kernal of a homomorphism on rings.

If R is a commutative ring with unit element and M is an ideal of R,
then M is a maximal ideal of R iff R/M is a field.

300DHR0EIT°IeS 35&6 (@oégm) 20 DGR
0Teed HaTeeEs éégoino& DHAH IoaHIw R 08050 M 0&0HS R &

Prove that a set of vectors which contains the zero vector O is linearly

Prove that a system consisting of a single non-zero vector is always
linearly independent.

HIGO8E 0 50008500 EDRN (98 3BT S w0erSTERD SIS0k,
28 28 WY BF Hardrgo|y SABD BYHLOI BI*H50.

Or

(b) If w be a subspace of finite dimensional vector space V(F), then prove that
dim (;) = dimV — dimw

$B208 585078 $ET0STeIE V(F) 08050 eond dim (%) = dimV — dimW
Q) eHoks.
2 -1 1
11. (a) () Find the characteristic equation of the matrix A=|-1 2 —1| and
1 -1 2
verify that it is satisfied by A.
31 1
() FindAlifA=|2 4 2]
1 1 3
2 -1 1
) A=[-1 2 -1| 0785 B, TR SWESD0D B8 0k, S
1 -1 2

SPEERE DADEBEIIN A H0yD) HERYOE WIH0s.



(b)

12. (a)

basis.

(‘08&01:50&.

(b)

(i)

(@)
(i)
@)
(i)
@)
(i)

@)
(i)

@)
(i)
@)
(i)

31 1
A=12 4 2| @ond A D LS 0k,
1 1 3
Or
1 3 2 1
Find the rank of the matrixA=|2 4 5 3
4 6 6 12

State and prove Cayley-Hamilton theorem.

132 1
A=|2 4 5 3| 50085 By, 563D 5087 &.
4 6 6 12

39 - 2209 JEposBn [H590 ETDosod.

State and prove Cauchy-Schwarz's inequality theorem.
If R =1{(2,1,3),(1,2,3),(1,1,1)} is a basis of R3, construct an orthogonal

EA - Ao WIZTHS RETOBHO (TR DEITHOBD.
R33% R = {(2,1,3),(1,2,3), (1,1,1)} a8 es5°5:00008 2.8 0027802 SGTR)

Or

State and prove Bessel's Inequality.

Find a unit vector orthogonal to (4,2,3) in R3interval.

T3Sy BBSTISD [@T°0 DEID0WDIN.

R? 008008’ (4,2,3) SEEDH ©00m &0t ahreded 9885 S308°,08.




(DBMAT 32)

BA DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Mathematics

Paper — IV : NUMERICAL ANALYSIS

Time : Three hours Maximum : 70 marks

SECTION A — (8 x 3 = 24 marks)

Answer ALL questions, each question carries equal marks.

1. Construct finite forward difference table for the function y = x3.

y =23 [HH0LDE 58S HE K SErsd SGE% DBoI0s.

2. (a)
(b)
(a)
(b)

Define averaging operator p.

Define Shift operator.

Averaging Operator u &0 (‘0658)01260&.
Shift operator & 36530150&.

3.  Evaluate (a) A?sin(px + q) (b) A(e®**P)
(a) A% sin(px + q) (b) A(e™ D) © DevdoRd S8 0é.

4. Find the missing term in the following data

X

0

11234

y

1

319|-1|81

55808 SIS S20DD grdoid K808,

X

0

112|134

y

1

319|-|81

5. Explain Iteration method
IO HEBD DdBood.

6. Write Evertt's formula

D58y Qe (@eR [Feood.



7. Explain simpson's %th rule

?\)OX)QSQ %th rule O DHBoV0E.

8. Explain Matrix inverse method.

BB DS DB DBosos.

SECTION B — (4 x 11% = 46 marks)

Answer ALL questions, each question carries equal marks.

9. (a) (1) State and prove Newton's Forward interpolation formula.
1) Ifuy=1u1=0,u;=5u3=22,u,=>57.Find ygs.
(i) B0medy HB KD ©0SBED R (@) (9500 DETD0B0E.
() po=1,u1 =01 = 5,3 = 22,1y = 57 900D 15 O é?éogsbo&.

Or

(b) (@) State and prove Lagranses interpolation formula.

(i) Using divided difference table, find f(x), which takes the values 1, 4,
40,85 at x = 0,1,3, 4.

(i) Brrod ©osBEd S (HHD0D Ardosod.
(i) x=0,1,34 58 f(x) =1,4,40,85 90008 Dzeees Sgergd (difference) 938
oeqoe f(x), B 8208, 08.

10. (a) State and prove Gauss Forward Interpolation formula.
PR DB S0R ©908BeER Soe(Eed) HID0D Erd0B08,

Or
(b) (@) Use stirling formula to find y,, given y; = 5225, yo = 4316, y,; = 3256,

V1o = 1926, Vo1 = 306.

(1) Find the value of y;5, using Bessle's formula if y,q = 2854, y;, = 3162,
Y1g = 3544, y,, = 3992.

(1) Vi = 5225, Ve = 4316, Vi1 = 3256, Vio = 1926, Vo1 = 306 @QD?@:)O})C\?)
R8oh A Eed)

(11) Yio = 2854, V14 = 3162, Vig = 3544, Vo2 = 3992 @Q)Jé 53\)@5‘3 XD“’[_@T’K)&
GOAIROD Y5 DEVDD L8 08



11.

12.

(a)

(b)

(a)

(b)

Using Romberg's integration, Calculate | o%ﬁdx correct to 4 decimal places.

X

U°ozo§ DAITCEO fo%mdx d 4 decimal @(;RS"G)@S’S Calculate 3a00é&.

si

Or

Evaluate f01 V1 + x*dx using Simpson's %t rule.

f01 V1 +x* dx 0 203ydy % rule oegoe 80087, 08.

(i)  Find root of the equation x3> —x — 1 = 0 by Bisection method.
(1) Find a real root of x = e™* by iteration method.
()  Bisection 98 aogo° X3 —x—1 =0 3WEEe a8 TS S8o S8 0.
(i) =B bg@ D°QO° x = e7F DK 8 %Y ;66(:(‘3.)& E0R"R0500.
Or

Solve the following equations by Gauss-Sidel method.
10x; — 2x9 —x3 — x4 =3
—2x1 +10xy —x3 —x, =15
—X1 — Xp + 10x3 — 2x, = 15
—X1 — Xy — 2x3 + 10x4 = —O.
(Correct to 3 decimal places).
o808 SEVeTOD KR - BS KB oo F-Gosod.
10x; — 2x5 —x3— x4 =3
—2x1 +10xy —x3 —x, =15
—X1 — Xy + 10x3 — 2x4 = 15
—X1 — Xy — 2x3 + 10x4 = —O.

(Correct to 3 decimal places).




(DSEL 31)
B.Sc. DEGREE EXAMINATION, DECEMBER 2019.
Third Year

Electronics

Paper III — SOLID STATE ELE. CIRCU. AND
DIGI. ELEC.

Time : Three hours Maximum : 70 marks
Answer any FIVE questions.

All questions carry equal marks.

1. Explain the working of half wave rectifier and derive expressions for ripple factor
and efficiency.

eag HBoK bgasma DD DO IRV HBoD 8HS Ko B0k BEH
PSS IESISINY) mmechm.

2. (a) Explain the working of series regulated power supply.
B3 DODOBS DS SBHT> HR DO IFHH0R DHBOWH.

(b) Explain the operation of class B push pull amplifiers.
Class B 9258 $YEH0 GBoo), IV AR 9580H08.
3. (a) Explain Op-Amp’s CMRR and slew rate.
5826(%55’2633 BE); CMRR 08030 slew rate o DHBoVos.

(b) Explain Op-Amp as voltage regulator.
SBIGES0 S'BE DALOBHM™ HBOHHW.

4. (a) Give the analysis of dumming amplifier.
Summing 3850 &), g)éaea [H0G.
(b) Explain the ideal characteristics of on Op-amp.

$BHBEB QoY) 8% oFeTren HBoDOs.
()

5.  Using op-amp solve second order differential equation.

BOEED HI°TP0E 3HEORD DDIEGEHVR, SB8otr ;Sggo:éo &EIRBIPROD ABEOBODN.



10.

(a) What is electromagnetic spectrum? Write application of microwaves.

DS ADR;0B 1)K 08 IDS? W(EDD) Bk, DGO OO
(b) Give the properties of Radio waves. Explain about radio broadcasting.

BEBT® BB BoE); WPOFEFOR FPAN0GE. BERBI® (HaeSd0 KI°8) 9580w06.

Explain the working of super heterodyne receiver with block diagram.

Q0S8 TPBE R (PTPES0 DD DAL JFPRH0R By7e DB SF0E” 9HBoBID.

(a) Explain the method to convert hexadecimal to binary and vice versa.
“« “« ( “« “« (%3
qﬁg B0 a)ogpé:éo &) DGO T og@ésg 0B &% a)ogpém q@g &30
K)o&)g?"
2) DB HIEYEB0E" IHB0HDOE?

(b) Explain about 8421 code (BCD).

8421 §°G 18 9nBowod (BCD).

(a) Explain the working of TTL logic with circuit diagram.
Hodh H¢35E° TTL &80 5 S 9H80H0é.

(b) Explain the working parallel adder.
Qo8 Adder A3wE); SO BB DHBoBID.

(a) Explain about decade countries with truth tables.

&8& 08080 Deg 0“3%§§®56 9580508,

(b) Explain about shift registers with neat diagrams.
2 BR8) B, 5 DKL DR )3 HOAHOE® HHBOVOE.




(DSEL 32)

B.Sc. DEGREE EXAMINATION, DECEMBER 2019.
Third Year

Electronics

Paper IV— MICROPROCESSOR

Time : Three hours Maximum : 70 marks

10.

Answer any FIVE questions.
All questions carry equal marks.

Draw the internal architecture of 8085 microprocessor. Explain the functions of
different blocks.

(a) Write different types of memory.

(b) Distinguish between memory mapped I/O and I/O mapped I/O memory
interfacing.

(a) Explain various interrupts of 8085 microprocessor. Write priorities of
interrupts.

(b) Draw the interrupt structure of 8085 microprocessor.
Explain arithmetic group of instructions of 8085 microprocessor.

Write an Assembly Language Program to perform multiplication of two 8-bit
numbers.

Write an Assembly Language Program to convert the given binary number of BCD
number.

(a) Draw the block diagram of 8255 A programmable peripheral interface.
(b) Draw I/0O and BSR control word formats of 8255 A.

Draw the block diagram of 8259 programmabe interrupt controller and explain
operation of each block.

Explain the interfacing of digital to analog converter with 8085 microprocessor.

Explain the interfacing the stepper motor with 8085 microprocessor.



(DSCSC 31)
B.Sc. DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Computer Science
Paper III — MODERN DATABASE MANAGEMENT

Time : Three hours Maximum : 70 marks

SECTION A — (3 x 4 = 12 marks)

Answer any THREE questions.

1.  What are the applications of Database?

2. What are the rules of modeling?

3.  Give an example for super type and sub type.
4.  How can you processing single table?

5.  What are the Data Dictionary Facilities?

SECTION B — (4 x 7 = 28 marks)

Answer any FOUR questions.

6.  What are the advantages of Database Approach?
7.  Give an example for Advanced Normal Forms.

8. How can you construct ER-model?
9.  Write a procedure to updating and deleting data from Table.

10. Explain about client/server Architecture.



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

SECTION C — (10 x 3 = 30 marks)
Answer ALL questions.
Database development process
Three-schema Architecture
Business Rules
EER modeling
Designing physical records and denormal system.
Query performance
Examples for dynamic SQL.
Examples for Sub Routines.

Middleware use

Role of DBA.



(DSCSC32)
B.Sc. DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Computer Science

Paper IV — VISUAL PROGRAMMING

Time : Three hours Maximum : 70 marks

Answer any FIVE questions.
All questions carry equal marks.

What is IDE? Explain about starting the visual C++ IDE.

IDE e 32072 Visual C++ IDE start Dahoes K578 9580:)a00.

Explain about the file menu and insert menu of VC++.

VC++ Aw¥); file menu 0805w insert menu A5°8) dHB0HH00.

Explain about advanced visual C++ features and debugging programes.

Advanced visual C++ features 08030 debugging programes £3°8y 580:)200.

Explain about input and output for character and string.

Character 508050 string &%), input 208050 output K3°8) D580H00.

Explain about character functions and string functions.

Character functions 208030 string functions #5°8) JHBoHodk.

Explain about procedure oriented windows applications and windows applications
using the MFC.

MFC &3&@35°Ro® procedure oriented windows applications S08a%» windows

applications 9980%0s&.



10.

Explain about Application and Class wizards.

Application 2080350 Class Wizardse X5°8) JHBoHod.

Explain about OLE features and specifications.

OLE features 08030 specifications 8y JHBoHok.

Explain the creation of a simple Active-X control with the MFC.
MFC&® simple Active-X control Y2000 DHBOYHB.

Explain :

(a) Rewind()

(b) Bitmaps

(¢) Custom Icons.

DHBoWOE :
(a) Rewind()
(b)  DeSDIO

(c) §§353 DS,




